B APNaLS_4eALA

UEILA40_LZA4E Y

=
o

[

0.5

alphal3_4eX1X:cyclenum {run == 5619}

4607 4607.5 4608 4608.5 4609
cyclenum

delta46_12X4eY:cyclenum {run == 5619}

4607 4607.5 4608 4608.5 4609

cyclenum

alpha4b_4ey4ay

5621

5620.5

5620

5619.5

5619

5618.5

5618

5617.5

5617

alpha46_4eY4aY:cyclenum {run == 5619}

4607 4607.5 4608 4608.5 4609

cyclenum

run:cyclenum {run == 5619}

4607 4607.5 4608 4608.5 4609
cyclenum

deltal3_lzx4ex

segment

deltal3_12X4eX:cyclenum {run == 5619}

4607 4607.5 4608 4608.5 4609
cyclenum

segment:cyclenum {run == 5619}

25

05

4607 4607.5 4608 4608.5 4609
cyclenum




USI_1A

usi_4ey

0.5

=

usl_1X:cyclenum {run == 5619}

P -
e e e eeeeamaenaaaaan .-

4607 4607.5 4608 4608.5 4609
cyclenum

usl_4eY:cyclenum {run == 5619}

4607 4607.5 4608 4608.5 4609

cyclenum

usl_say

usl_12x

[

0.5

[

0.5

usl_4aY:cyclenum {run == 5619}

4607 4607.5 4608 4608.5 4609
cyclenum

usl_12X:cyclenum {run == 5619}

4607 4607.5 4608 4608.5 4609

cyclenum

usl_sex

5621

5620.5

5620

5619.5

5619

5618.5

5618

5617.5

5617

usl_4eX:cyclenum {run == 5619}

[

PN RPN AP B
4607 4607.5 4608 4608.5 4609
cyclenum

run:cyclenum {run == 5619}

4607 4607.5 4608 4608.5 4609

cyclenum




USI_L1A

usI_aey

0.5

=

usr_1X:cyclenum {run == 5619}

P -
e e e eeeeamaenaaaaan .-

4607 4607.5 4608 4608.5 4609
cyclenum

usr_4eY:cyclenum {run == 5619}

4607 4607.5 4608 4608.5 4609

cyclenum

usr_say

usr_12x

[

0.5

[

0.5

usr_4aY:cyclenum {run == 5619}

4607 4607.5 4608 4608.5 4609
cyclenum

usr_12X:cyclenum {run == 5619}

4607 4607.5 4608 4608.5 4609

cyclenum

usr_aex

5621

5620.5

5620

5619.5

5619

5618.5

5618

5617.5

5617

usr_4eX:cyclenum {run == 5619}

[

PN RPN AP B
4607 4607.5 4608 4608.5 4609
cyclenum

run:cyclenum {run == 5619}

4607 4607.5 4608 4608.5 4609

cyclenum




8436.5

18436

8435.5

18435

8434.5

usi_culo

usl_coill:cyclenum {run == 5619}

4607 4607.5 4608 4608.5 4609

cyclenum

usl_coil6:cyclenum {run == 5619}

1+

4607 4607.5 4608 4608.5 4609
cyclenum

3336

3335.5

3335

3334.5

3334

[

usl_coll/

0.5

usl_coil3:cyclenum {run == 5619}

4607 4607.5 4608 4608.5 4609
cyclenum

usl_coil7:cyclenum {run == 5619}

4607 4607.5 4608 4608.5 4609
cyclenum

1233.4

1233.2F
4233F
1232.8

1232.6 F

1232.4
1232.2

4232

1231.8 F
1231.6 F
12314 F

12312 F

5621

5620.5

5620

5619.5

5619

5618.5

5618

5617.5

5617

usl_coil4:cyclenum {run == 5619}

4607 4607.5 4608 4608.5 4609
cyclenum

run:cyclenum {run == 5619}

4607 4607.5 4608 4608.5 4609
cyclenum




4170.6

4170.8F
-24171F
4171.2F

1714 F

4171.6

4171.8

24172

4172.2F
11724 F

4172.6F

4172.8

usI_coio

=

usr_coill:cyclenum {run == 5619}

4607 4607.5 4608 4608.5 4609

cyclenum

usr_coil6:cyclenum {run == 5619}

4607 4607.5 4608 4608.5 4609

cyclenum

1357.5

—-4358

1358.5

—4359

1359.5

[

usr_coll/

0.5

usr_coil3:cyclenum {run == 5619}

4607 4607.5 4608 4608.5 4609
cyclenum

usr_coil7:cyclenum {run == 5619}

4607 4607.5 4608 4608.5 4609

cyclenum

4500

1499.5

4499

1498.5

4498

5621

5620.5

5620

5619.5

5619

5618.5

5618

5617.5

5617

usr_coil4:cyclenum {run == 5619}

4607 4607.5 4608 4608.5 4609
cyclenum

run:cyclenum {run == 5619}

4607 4607.5 4608 4608.5 4609
cyclenum




-217

-217.5

-218

-218.5

1X_coill:cyclenum {run == 5619}

PO R T A B T
4607 4607.5 4608 4608.5 4609
cyclenum

-320.5

-321]

-321.5

-322

-322.5

4eX_coill:cyclenum {run == 5619}

4607 4607.5 4608 4608.5 4609
cyclenum

-17.6

1-17.8

-18

-18.2

-18.4

-18.6

-18.8

-19

-19.2

-19.4

-19.6

-19.8

-52.5

-53.5

1X_coil3:cyclenum {run == 5619}

4607 4607.5 4608 4608.5 4609

cyclenum

4eX_coil3:cyclenum {run == 5619}

4607 4607.5 4608 4608.5 4609
cyclenum

1X_coll/

4eXx_coll/

[

05

[

05

1X_coil7:cyclenum {run == 5619}

4607 4607.5 4608 4608.5 4609
cyclenum

4eX_coil7:cyclenum {run == 5619}

4607 4607.5 4608 4608.5 4609
cyclenum




294.4

294.2F
204 F
293.8F

2936 F

293.4
293.2

293

292.8F
292.6 F

292.4F

292.2

275

274.5

273.5

273

4aY_coild:cyclenum {run == 5619}

4607 4607.5 4608 4608.5

cyclenum

4eY_coil4:cyclenum {run == 5619}

4607 4607.5 4608 4608.5 4609
cyclenum

4ay_collb

4eY_collb

[

0.5

[

4aY_coil6:cyclenum {run == 5619}

4607 4607.5 4608 4608.5 4609

cyclenum

4eY_coil6:cyclenum {run == 5619}

4607 4607.5 4608 4608.5 4609
cyclenum

4ay_coll/

4eY_coll/

[

05

[

4aY_coil7:cyclenum {run == 5619}

4607 4607.5 4608 4608.5 4609
cyclenum

4eY_coil7:cyclenum {run == 5619}

4607 4607.5 4608 4608.5 4609
cyclenum




-233

-233.5

-234

-234.5

-235

LZA_Colo
=

12X_coill:cyclenum {run == 5619}

4607 4607.5 4608 4608.5 4609
cyclenum

12X_coil6:cyclenum {run == 5619}

4607 4607.5 4608 4608.5 4609

cyclenum

-82.5

-83

-83.5

[

12X_coi/

0.5

12X_coil3:cyclenum {run == 5619}

4607 4607.5 4608 4608.5 4609
cyclenum

12X_coil7:cyclenum {run == 5619}

4607 4607.5 4608 4608.5 4609
cyclenum

12X_coll4
U
N

5621

5620.5

5620

5619.5

5619

5618.5

5618

5617.5

5617

12X_coil4:cyclenum {run == 5619}

4607 4607.5 4608 4608.5 4609

cyclenum

run:cyclenum {run == 5619}

4607 4607.5 4608 4608.5 4609
cyclenum
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